
 

All rights reserved, including intellectual property rights. Technical data subject
to modifications and delivery subject to availability. Any liability that the data
and illustrations are complete, actual or correct is excluded. Designations may
be trademarks and/or copyrights of the respective manufacturer, the use of
which by third parties for their own purposes may infringe the rights of such
owner. For further information see ts.fujitsu.com/terms_of_use.html 
 
Copyright © Fujitsu Technology Solutions GmbH 2010 

 Published by: 
 
Enterprise Server Products 
Product Management 
 
http://ts.fujitsu.com/ A26361- F3657- Z280- 1- 8N19

 

INFORM 

 

1 Earthquake basic and connection kit components 
耐震用の基本キットおよび接続キットの部品 

 
 
Earthquake basic kit: 

− 2x adapters A3C40126894 (1) 
− 2x adapters A3C40126896 (2) 
− 4x M12 screws with washer (3) 
− 6x M8 screws with washer (4) 
 
耐震基本キット: 

− 2x アダプタ A3C40126894 (1) 
− 2x  アダプタ A3C40126896 (2) 
− 4x M12 ワッシャー付きネジ (3) 
− 6x M8 ワッシャー付きネジ (4) 

(1)

(2)

(3)

(4)

 
Earthquake connection kit: 

− 2x front adapters A3C40127502 (1) 
− 4x M12 screws (2) 
 
耐震接続キット: 

− 2x前面アダプタA3C40127502 (1) 
− 4x M12ネジ (2) 
 

(2)
(1)

 

 

 
 
 
 
 
 
 
 
 
 
 
  

  

Issue  22/11/2010 

Category  PRIMERGY Servers 

Content  

 

User Information 

Use  external 

Customer information about Earthquake Basic and 
Connection Kit 
耐震用の基本キットおよび接続キットに関するユーザ情報
 
PRIMERGY CX1000 S1 System Unit Pages  8 



Issue: 22/11/2010    Type: PRIMERGY Servers    Version: User Information - Assembly Instruction Page 2 / 8 
  

 
Copyright © Fujitsu Technology Solutions GmbH 2010 

2 Mounting space 
取り付けスペース 

 
Basic kit: 
基本キット: 

7
6
.5

2
0
0

2
0
0

2
0
0

7
6
.5

7
5
3

150

241

150

709241

1191

4
3
.5

4
8
.5

891

4
1

8
4
5

8
8
6

16

 
 
Basic and connection kit: 
基本キットおよび接続キット: 

2
0
0

2
0
0

2
0
0

7
6
.5

7
5
3

4
8
.5

150 737 120 735 150

1
8
8
.7

241 596 220

50 50

594 241

4
1

8
4
5

8
8
6

1
9
6
.9

1892

9
9
0
.2

16

 



Issue: 22/11/2010    Type: PRIMERGY Servers    Version: User Information - Assembly Instruction Page 3 / 8 
  

 
Copyright © Fujitsu Technology Solutions GmbH 2010 

3 How to use earthquake basic and connection kit 
耐震用の基本キットおよび接続キットの使用方法 

  
Required kits 
必要なキット 

 
View from top of system unit 
(1) basic kit; (2) connection kit, (a) connection plate 

システムユニットの上面図 
(1) 基本キット、(2) 接続キット、(a) 接続プレート 

 
Support stand-alone system 
unit: 

スタンドアロンのシステムユ
ニット対応: 

 
1x basic kit 
 

1x 基本キット 

 
 
Support of two or more system units: 
複数のシステムユニット対応: 

 
−   two system units *) 
 

−   システムユニット 2 つ*) 
 

 
1x basic kit 
1x connection kit 

1 x 基本キット 
1 x 接続キット 

 
 
−   three system units *) 
 

−   システムユニット 3 つ*) 

 
1x basic kit 
2x connection kits 

1 x 基本キット 
2 x 接続キット 

 
−   six system units *) 
 

−   システムユニット 6 つ*) 

 
2x basic kits 
2x connection kits 

2 x 基本キット 
2 x 接続キット 

 
*)   Requirement: The system units must be joined by connection plates (see next section " How to join system units with 
      connection plates"). Two connection plates and the screws are included with every CX1000 S1 system unit. 
      要件: システムユニットは接続プレート（次の「接続プレートを使用するシステムユニットの接続方法」の項を参照） 

      を使用して接続する必要があります。 各 CX1000 S1 システムユニットに 2 枚の接続プレートとネジが付属します. 



Issue: 22/11/2010    Type: PRIMERGY Servers    Version: User Information - Assembly Instruction Page 4 / 8 
  

 
Copyright © Fujitsu Technology Solutions GmbH 2010 

4 How to join system units with connection plates 
接続プレートを使用するシステムユニットの接続方法 

 
CAUTION! 
      For safety instructions, please refer to the PRIMERGY CX1000 S1 operating manual! 

Note: 
      Two connection plates and the screws are included with every CX1000 S1 system unit. 

 
注意! 
      安全に関する注意事項については、PRIMERGY CX1000 S1 のオペレーティングマニュアルを参照してくだ 
      さい。 

注: 
      各 CX1000 S1 システムユニットに 2 枚の接続プレートとネジが付属します。 

 
 
Joining system units back to back: 

• Attach two connection plates to the head units of both 
system units as shown with two M5 screws each. 

 
背面合わせでシステムユニット接続: 

• 図に示すように、2 枚の接続プレートを両方のシステム
ユニットのヘッドユニットに、それぞれ 2 本の M5 ネジ
を使用して取り付けます。 

 

 
 

 
Joining system units side by side: 

• Attach a connection plate to the head units of both 
system units as shown with two M5 screws. 

 
隣り合わせでシステムユニットを接続: 

• 図に示すように、1 枚の接続プレートを両方のシステム
ユニットのヘッドユニットに、2 本の M5 ネジを使用し
て取り付けます。 

 

 
 



Issue: 22/11/2010    Type: PRIMERGY Servers    Version: User Information - Assembly Instruction Page 5 / 8 
  

 
Copyright © Fujitsu Technology Solutions GmbH 2010 

 
Joining system units back to back and side by side: 

• Fit horizontal connection plates in between the head 
units of all side-by-side system units as shown. 

• After that, fit two vertical connection plates on top of 
each horizontal pair of connection plates as shown. 

• Attach the two pairs of connection plates to the head 
units of all four system units with four M5 screws. 

 
背面合わせで隣り合わせにシステムユニットを接続: 

• 図に示すように、隣り合わせにしたすべてのシステムユ
ニットのヘッドユニット間に、接続プレートを水平に合
わせます。 

• 次に図に示すように、水平な 1 対の接続プレートの上
に、2 枚の接続プレートを垂直に合わせます。 

• 2 対の接続プレートを 4 本の M5 ネジで、4 つのすべて
のシステムユニットのヘッドユニットに取り付けます。 

 

 
 

 

5 How to install earthquake basic and connection kit 
耐震用の基本キットおよび接続キットの取り付け方法 

 
CAUTION! 
      For safety instructions, please refer to the PRIMERGY CX1000 S1 operating manual! 
 
注意! 
      安全に関する注意事項については、PRIMERGY CX1000 S1 のオペレーティングマニュアルを参照してくだ 
      さい。 
 
Installing basic kit 
基本キットの取り付け 
 
 
• Extend the four leveling feet to the 

ground, using a  12 mm wrench or 
5 mm hexagon key. 

 
• 12 mm レンチまたは 5 mm 六角

レンチを使用して、4 本の水平調
整ネジを床に伸ばします。 

 

 
 



Issue: 22/11/2010    Type: PRIMERGY Servers    Version: User Information - Assembly Instruction Page 6 / 8 
  

 
Copyright © Fujitsu Technology Solutions GmbH 2010 

 
Install the adapters A3C40126894 on 
both sides of the system unit: 

• Put the adapter on the bottom of 
the system unit. 

• Fix the adapter with two M12 
screws on the front and rear side 
using a 19 mm wrench. 

 
システムユニットの両側にアダプタ 
A3C40126894 を取り付けます: 

• アダプタをシステムユニットの底
に置きます。 

• 19 mm レンチを使用して、2 本の 
M12 ネジでアダプタを前面と背面
に固定します。 

 

 
Install the adapters A3C40126896 on 
each side of the system unit: 

• Fix the adapter A3C40126896 to 
the adapter A3C40126894 using 
three M8 screws with washer. 

Note:  
      Bolt screws for fixing to the floor 
      must be prepared by the 
      customer. 

• Fix the adapter A3C40126896 to 
the floor with four bolts. 

 
システムユニットの両側にアダプタ 
A3C40126896 を取り付けます: 

• 3 本の M8 ワッシャー付きネジ
で、アダプタ A3C40126896 を ア
ダプタ A3C40126894 に固定しま
す。 

注:  
      床に固定するためのボルトネジ 
      は、ユーザが用意する必要があり 
      ます。 

• 4 本のボルトで、アダプタ 
A3C40126896 を床に固定しま
す。 

 

 
CAUTION! 
      After each earthquake or strong vibration, the screws must be checked to avoid slacken of screws! 
      Make sure that the screws are tightened firmly!  
 
注意 ! 
      地震などの強度の振動後には、ネジが緩んでいないかをチェックしてください。 ネジは必ずしっかり締め 
      てください。 

 

1

2 2



Issue: 22/11/2010    Type: PRIMERGY Servers    Version: User Information - Assembly Instruction Page 7 / 8 
  

 
Copyright © Fujitsu Technology Solutions GmbH 2010 

Installing connection kit 
接続キットの取り付け 
 
Requirement: 
      Two system units must be joined side by side! 

 
要件: 
      2 つのシステムユニットは隣り合わせに接続してください。 

 
 
Install the two front adapters 
A3C40127502 on front and rear side 
of two system units: 

• Extend the four leveling feet of the 
two system units to the ground, 
using a  12 mm wrench or 5 mm 
hexagon key. 

 
2 つの前面アダプタ A3C40127502 を 
2 つのシステムユニットの前面と背面
に取り付けます: 

• 12 mm レンチまたは 5 mm 六角
レンチを使用して、2 つのシステ
ムユニットの 4 本の水平調整ネジ
を床に伸ばします。 

 

 

 
• Screw two M12 screws to the 

bottom of each edge until a 
distance of 5 mm remains. 

 
• それぞれの端の底に、2 本の M12 

ネジを頭を 5 mm 残して締めま
す。 

 

 
 

5 mm 5 mm 



Issue: 22/11/2010    Type: PRIMERGY Servers    Version: User Information - Assembly Instruction Page 8 / 8 
  

 
Copyright © Fujitsu Technology Solutions GmbH 2010 

 
 
• Join two system units with the 

front adapter A3C40127502. 

The recesses of the front adapter 
must fit in the two screws and the 
two feet. 

Note:  
      Bolt screws for fixing to the floor  
      must be prepared by the 
      customer. 

• Fix the front adapter 
A3C40127502 to the floor with two 
bolts. 

 
• 前面アダプタ A3C40127502 を使

用して 2 つのシステムユニットを
接続します。 

前面アダプタの溝を 2 本のネジと 
2 本の水平調整ネジに合わせま
す。 

注:  
      床に固定するためのボルトネジ 
      は、ユーザが用意する必要があり 
      ます。 

• 2 本のボルトで、前面アダプタ 
A3C40127502 を床に固定しま
す。 

 

 
CAUTION! 
      After each earthquake or strong vibration, the screws must be checked to avoid slacken of screws! 
      Make sure that the screws are tightened firmly!  
 
注意 ! 
      地震などの強度の振動後には、ネジが緩んでいないかをチェックしてください。 ネジは必ずしっかり締め 
      てください。 

 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


